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More practice Set out these questions yourself to answer them.

78 - 24 =7 Bl 95-33=? El 88-L6 =7
718 9 5 88
- 124 -131]3 -4 6
5 4 6 2 4| 2

I Check your answers above by adding.

54 + 24 = 78 62 + 33 =95 42 + 46 = 88

Problem solving

m A shop had a shelf with 89 tins on it.
If L3 of the tins are bought, how many 8 9
tins remain on the shelf? - 3
6 46
Bl Mrs Smith only has 78p in her purse. (
She takes out L45p to pay in a car park. 8
How much money is left in the purse? - S
3 33p
_
BE]l The height of Jo's dog is 93cm. The height (
of Jo's cat is 23cm. How much taller is Jo's ?
dog than Jo's cat? - 2
7 0 70cm
David weighed 86kg before going on ( 6
a diet. After his diet he weighs 72kg. 8
How many kilograms did he lose? - 7 2
|y |'+kg

| How did I find Step 1? [JEasy []OK [ Difficult






